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Britain cannot go green without paying a price
	

	

	

	


HOW do you cut emissions of greenhouse gases (GHGs) while ensuring that voters still get cheap electricity? After wrestling with this question for months, the government this week pretty much admitted that it cannot be done.
A long-awaited report published on February 14th by Tony Blair's performance and innovation unit (PIU), part of the Cabinet Office, was supposed to set out the broad outlines of energy policy for the next 50 years. Actually, all the report does is to invite a debate on whether there should be such a policy, or whether things should be left mostly to market forces. 
Classical energy policy suggests that countries need a range of power sources—coal, nuclear, gas and so on—with as much as possible coming from domestic supplies. The rationale is to ensure there are alternatives even if one source is disrupted or if international events interrupt imports, but it means government spending heavily on meddling in the marketplace. 
Increasingly, liberalised markets are seen as the best guarantor of energy security. The remarkable resilience of Britain's electricity trading system recently, despite the collapse of Enron, the country's biggest energy trader, bolsters this argument. What's more, liberalisation has given Britain the cheapest energy in Europe.
Mr Blair's government has avoided making tough decisions about energy policy. That has been possible because it inherited plenty of nuclear power and offshore gas. Just over 40% of electricity is produced by gas, just under 30% by coal, 25% by nuclear and tiny amounts from oil and renewables.
Two factors will bring about difficult choices. First is Britain's noisy commitment to the Kyoto protocol, a UN treaty to combat global warming. Mr Blair even dared to criticise his bosom buddy, George Bush, for walking out on Kyoto last year. That pact commits Britain to sharp cuts in its emissions of GHGs. Second, nine of Britain's ten nuclear power stations are due to shut down by 2025. Nuclear plants produce no GHGs. Unless those plants are replaced by carbon-free sources (new nukes or renewables), Britain's climate goals cannot be met.
The government wants a big expansion of renewable energy, from supplying 3% of electricity needs now to 20% in 2020. Experts agree it is possible. A recent report for the Scottish government reckoned that there is enough potential wind and wave power around Scottish coasts to supply 75% of Britain's electricity needs.
But how to get there? British Energy, a nuclear generator, and AMEC, a big construction firm, are looking at building a 300-turbine wind farm, the biggest yet in Europe, on the Hebridean island of Lewis. It would generate about 600MW, about half the output of a nuclear power station. But British Energy thinks it may need a subsidy to help pay for the £300m-400m cost of laying a sub-sea cable to get to the main electricity market in England. Supplying this sort of power on the scale envisaged would, the government reckons, raise electricity bills by up to 6%. 
The PIU also wants to keep the nuclear option open, but public opinion is hostile. Even if that can be overcome, British Energy admits that current electricity prices are too low for new nuclear to be economic; it needs fresh subsidies too. 
The PIU report is not keen on that, preferring to wait and see if new technologies bring the cost of nuclear power down. Even if that happens, few banks are willing to finance such a project unless the costs of dealing with nuclear waste and insuring against accidents are sorted out. These costs too, are likely to fall on the taxpayer or the consumer. Renewable or nuclear, greenery will be costly.
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